(© Copyright : Gatic Pty Ltd - 2017

o
LN
o]
o
0
[
OO0
B FILLING MATERIAL
TO BE ADDED SECTION B-B
1155
1297
J 5 m_\ I VI 1 Il 1
ﬂ { ’ %! L d 14 | I 1 1% T T | T -
e 3 [}
1067 C/O
SECTION A-A
Item# | Drwg # | Rev Title Material Qty Mass
1 3183 B 1067x610 C/O Concrete Infill Ductile Iron 500 - 7 1 180.6 kg
Cover Class E
2 3182 B 1067 mm DC Bar Class E Ductile Iron 500 - 7 1 20.7 kg
3 5352 A 1257x150x10 End Plate Galvanised Mild Steel 1 14.9 kg
4 2831 B 610 mm RH Side Bar Class E Ductile Iron 500 - 7 1 12.1 kg
5 2827 B 610 mm LH Side Bar Class E Ductile Iron 500 - 7 1 12.1 kg
6 2917 A M12 Washer Nylon, general purpose | 2 0.0 kg
7 2918 A M12 Washer Stainless Steel, 304 2 0.0 kg
8 2919 A M12x75 Socket Head Cap Bolt | Stainless Steel, 304 2 0.2 kg OTE:
9 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
_ — - 4 OFF M12x50/'HEX HEAD BOLTS REQUIRED FOR FRAME ASSEMBLY C/W WASHERS AND NUTS.
10 1681 A | Plastic Keyhole Plug UV Stabilized Nylon 6 0.0 kg - 4 OFF M12x50 COUNTERSINK SCREW REQUIRED FOR END PLATE ASSEMBLY C/W WAHSERS AND NUTS.
UNLESS OTHERWISE STATED | ngaR MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening [—] BY DATE |dVsoicieeepu] ™ 1067x610 C/O COVER & FRAME ASSEMBLY
% ALL MEASURES IN MILIMETERS. ;'x :8?3 mm AL CAST SURFACES T0 BE PAINTED BLACK @E oesioneD: | F.M. | 04-03-17 [Scae: CLASS E C/W END PLATE
g GENERAL CAST TOLERANCES: ' o FINISH: o R ICATED COMPONENTS TO BE HOT DIP — orawn: | FM. | 04-03-17 FORMAS'T'SAé MATERIA - [ s 240.6 kg
m o : R 0 o ANGUL/:\ER MACHINING TOLERANCE: GALVANISED TO AS4680. GATIC PTY LTD . THIRD ANGLE [ | 5. | 00317 — —
o T bate | DEscRIPTION BY Joko ] Shat sabess o Xx 010 MACHINED SURFACES, |- e e e o voncenos | PROJECTION [wmove] 55. | 040307 ™ 1 of 1 5353 A
2 | 3 | 4 5 6 7 | 8 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16




